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INSTRUCTIONS TO CANDIDATES 
 

 CP‐SAT Test paper consists of total 50 questions. 

 Paper Pattern:  

o General Science  20 Questions  Que. No. 01 to 20 

o Mathematics   20 Questions  Que. No. 21 to 40 

o Mental Ability   10 Questions  Que. No. 41 to 50 

 All questions are compulsory. 

 These questions have multiple choices but only one answer is correct out of them. 

 Four marks will be allotted to each right answer.  

 There is no Negative marking. 

 The answer sheet is supplied with this question paper and you are advised to indicate your 
answer on this Answer Sheet only. 

 Rough work should be done only on the blank spaces provided.  Extra paper will not be 
supplied. 

 Mobile / Calculator are not allowed during the exam. 

 Any kind of malpractice will expel you from exam immediately. 

 For any queries please contact to invigilator. 

 For any kind of suggestions or complaints send Email at info@careerpointgroup.com 
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SCIENCE  
 

PHYSICS 
Q.1 High power electrical appliances are earthed

to - 
 (1) Avoid shock   
 (2) Avoid wastage  
 (3) Make the appliance look beautiful  
 (4) Reduce the bill 

 
Q.2 Three resistance each of 8 Ω are connected to a

triangle. The resistance between any two
terminals  will be:   

 (1) 12 Ω    (2) 2 Ω      (3) 6 Ω        (4) Ω
3

16       

Q.3 How much electrical energy in kilowatt hour is
consumed in operating ten, 50 watt bulbs for
10 hours per day in a month of 30 days ? 

 (1) 15  (2) 150 (3) 1500 (4) 15000 

 
Q.4 A solenoid having an iron core has its terminals

connected across an ideal D.C. source. If the iron
core is removed the current flowing through
solenoid:  

 (1) Increases   
 (2) Decreases  
 (3) Remains unchanged  
 (4) Nothing can be said 
 
Q.5 A wire of length l is placed in a magnetic field

B, If the current in the wire is I, then maximum
magnetic force on the wire is - 

 (1) BIl (2) 
lI

B  (3) 
B
Il   (4) 

lB
I  

 

SCIENCE  
 

PHYSICS 
Q.1 mPp 'kfDr ds fo|qr midj.k HkwlEifdZr fd;s tkrs

gSa, rkfd - 
 (1) /kkjk ds >Vds dks Vkyk tk lds 
 (2) osLVst dks udkjk tk lds 
 (3) midj.k dks vf/kd lqUnj cuk;k tk lds  
 (4) fcy dks de fd;k tk lds 
 

Q.2    izR;sd 8 Ω ds rhu izfrjks/k ,d f=kHkqt esa tksMs+ tkrs

gSaA fdUgha Hkh nks VfeZuyksa ds e/; izfrjks/k gksxk :   

 (1) 12 Ω       (2) 2 Ω     (3) 6 Ω       (4) Ω
3

16       

 
Q.3  50 okV ds nl cYcksa dks izfrfnu 10 ?kaVs] 1 eghus rd

ftlesa 30 fnu gksrs gS iz;ksx esa yk;k tkrk gS] rks fdruh

fo|qr ÅtkZ fdyks okV ?k.Vk esa [kpZ gksxh ? 
 (1) 15  (2) 150 (3) 1500 (4) 15000 
 

Q.4 ,d ifjukfydk ,d yksgs dh dksj j[krh gS rFkk

blds fljs ,d vkn'kZ D.C. ls tqMs+ gksrs gSA ;fn

yksgs dh dksj gVk yh tkrh gS rks ifjukfydk esa ls

cgus okyh /kkjk - 
 (1) c<+rh gS 
 (2) de gksrh gS  
 (3) vifjofrZr jgrh gS  
 (4) dqN ugha dgk tk ldrk  
 

Q.5  yEckbZ l dk ,d rkj pqEcdh; {ks=k B esa j[kk tkrk

gSA ;fn rkj esa /kkjk I gS, rks rkj ij yxus okyk

lokZf/kd pqEcdh; cy gS - 

 (1) BIl (2) 
lI

B  (3) 
B
Il   (4) 

lB
I  
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Q.6 The magnification of an object placed 10 cm
from a convex mirror of radius of curvature
20 cm will be - 

 (1) 0.2  (2) 0.5 
 (3) 1  (4) infinity 

 
Q.7 A man of height 1.8 m wishes to see is full

image in a plane mirror. The minimum height of
the plane mirror needed for this purpose is - 

 (1) 3.3 m  (2) 2.8 m  
 (3)  1.8 m  (4) 0.9 m  

 
Q.8 Wires X and Y of resistances are in the ratio

1 : 2. When the wires are connected in series to a
battery of e.m.f. 2V, as shown in figure, the ratio
of the p.d. across X to the p.d. across Y will be –

 

 
X Y 

2V  
 (1) 2 : 1 (2) 1 : 2 (3) 1 : 4 (4) 1 : 8 
 
Q.9 A 12 V car headlamp bulb takes a current of

1.5 A. What is the power of the bulb ? 
 (1) 18 W  (2) 16 W 
 (3)  14 W  (4) 12.5 W 

 
Q.10 Commonly used safety fuse wire is made of - 
 (1) Tin 
 (2)  Lead 
 (3)  Nickel 
 (4)  An alloy of tin and lead 

Q.6 20 cm oØrk f=kT;k okys ,d mÙky niZ.k ds lkeus 

10 cm ij j[ks ,d fcEc dk vko/kZu gksxk - 
 (1) 0.2  (2) 0.5 
 (3) 1  (4) vuUr  
 
 

Q.7 1.8 m Å¡pk vkneh lery niZ.k esa viuk lEiw.kZ 

izfrfcac ns[kuk pkgrk gS rc bl mn ~s'; ds fy, niZ.k 

dh vko';d U;wure Å¡pkbZ gS - 
 (1) 3.3 m  (2) 2.8 m  
 (3)  1.8 m  (4) 0.9 m  
 

Q.8 nks rkjksa X rFkk Y ds izfrjks/kksa dk vuqikr 1 : 2  gSA tc 

rkjksa dks 2V fo-ok-cy dh cSVjh ls Js.khØe esa tksM+k tkrk 

gS] tSlk fd fp=k esa iznf'kZr gSA rc X ds fljks ij 

foHkokUrj rFkk Y ds fljks ij foHkokUrj dk vuqikr gS – 

 

X Y 

2V  
 (1) 2 : 1 (2) 1 : 2 (3) 1 : 4 (4) 1 : 8 
 

Q.9 ,d 12 V ds dkj gsMySEi cYc esa 1.5 A /kkjk izokfgr 
gksrh gSA cYc dh 'kfDr gS ? 

 (1) 18 W  (2) 16 W 
 (3)  14 W  (4) 12.5 W 

 

Q.10 lkekU; mi;ksx ds fy, lqj{kkRed ¶;wt rkj cuk, tkrs gS -
 (1) Vhu ds  
 (2)  ysM ds 
 (3)  fudy ds  
 (4)  Vhu rFkk ysM ds feJ.k ds 



  

 

 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 

CAREER POINT, CP Tower, IPIA, Road No.1, Kota (Raj.), Ph: 0744-3040000                                                                              4 

Space for rough work 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

CHEMISTRY 
 

Q.11 The atomic number of the element next to 2He in 
the same group is - 

 (1) 4 (2) 10 (3) 20 (4) 52 

 
Q.12 The elements with atomic number 9, 17, 35, 53

and 85 belong to  - 
 (1) Alkali metals (2) Alkaline earth metals
 (3) Halogens (4) Noble gases 

 
Q.13 The chemical formula of gypsum is - 

 (1) CaSO4  (2) OH
2
1CaSO 24 ⋅  

  (3) OHCaSO 24 ⋅  (4) OH2CaSO 24 ⋅  
 
Q.14 Which of the following elements does not belong

to Group 14 ? 
 (1) Carbon  (2) Silicon 
 (3) Germanium (4) Arsenic 

 
Q.15 p-subshell contain maximum number of

electrons - 
 (1) 6 (2) 4 (3) 2 (4) Zero 

 

Q.16 How many number of unpaired electrons present
in Fe+2 ion is - 

 (1) 2 (2) 3 (3) 4 (4) 6 

 
Q.17 Which of the following behave like fluids ? 
 (1) Only gases 
 (2) Gases and liquids 
 (3) Only liquids 
 (4) Gases, solids and liquids 
 

CHEMISTRY 
 

Q.11 leku oxZ esa 2He ds Ik'pkr~ vkus okys rRo dk 

ijek.kq Øekad gS - 
 (1) 4 (2) 10 (3) 20 (4) 52 

 

Q.12 ijek.kq Øekad 9, 17, 35, 53 ,oa 85 ds rRo fuEu ls 

lacaf/kr gksrs gS - 
 (1) {kkjh; /kkrq;sa (2) {kjh; eǹk /kkrq;sa 
 (3)  gSykstu  (4) vfØ; xSls 
 

Q.13 ftIle dk jklk;fud lw=k gS - 

 (1) CaSO4  (2) OH
2
1CaSO 24 ⋅  

  (3) OHCaSO 24 ⋅  (4) OH2CaSO 24 ⋅  
 

Q.14 fuEu esa ls dkSulk rRo] oxZ 14 ls lacaf/kr ugha gS ? 
 (1) dkcZu  (2) flfydkWu 
 (3)  tesZfu;e (4) vklsZfud 

 
Q.15 p-midks'k esa bysDVªkWuksa dh vf/kdre la[;k gksrh gS - 
 (1) 6 (2) 4 (3) 2 (4) 'kwU; 

 
 

Q.16 Fe+2 vk;u esa fdrus v;qfXer bysDVªkWu mifLFkr gksrs 

gS - 
 (1) 2 (2) 3 (3) 4 (4) 6 

 

Q.17 fuEu esa ls dkSulk rjy ds leku O;ogkj djrk gS ?
 (1) dsoy xSls 
 (2) xSls rFkk nzo 
 (3) dsoy nzo 
 (4) xSls] Bksl rFkk nzo 
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Q.18 Common salt obtained from sea-water is impure.
It is purified by - 

 (1) Evaporation   
 (2) Fractional distillation 
 (3) Crystallisation 
 (4) Distillation and evaporation 

 
Q.19 The ion of an element has 3 positive charges.

Mass number of the atom is 27 and the number
of neutrons is 14. What is the number of
electrons in the ion ? 

 (1) 13 (2) 10 (3) 14  (4) 16 

 
Q.20 How many moles are present in 64 grams O2 ?  

[Atomic weight of O = 16] 
 (1) 4 moles  (2) 2 moles 
 (3) 5 moles   (4) None of these 

 
MATHEMATICS 
 

Q.21 The value of k for which the system of equations 
  2x + 3y = 5;  4x + ky = 10 
 has infinite number of solutions, is - 
 (1) 1  (2) 3 (3) 6 (4) 0 
 
Q.22 The probability of throwing a number greater

than 2 with a fair dice is - 

 (1) 
5
3  (2) 

5
2  (3) 

3
2  (4) 

3
1  

 

Q.23 The curved surface area of a cylinder is
264 m2 and its volume is 924 m3. The ratio of its
diameter to its height is - 

 (1) 3 : 7 (2) 7 : 3 (3) 6 : 7 (4) 7 : 6 

Q.18 leqnz ty ls izkIr lk/kkj.k yo.k v'kq) gksrk gSA 
bldk 'kqf)dj.k fuEu ds }kjk gksrk gS - 

 (1) ok"iu   
 (2) izHkkth vklou 
 (3) fØLVyhdj.k  
 (4) vklou rFkk ok"iu 
 

Q.19 ,d rRo ds vk;u esa rhu /kukos'k gSA ijek.kq dh 

nzO;eku la[;k 27 gS rFkk U;wVªkuksa dh la[;k 14 gSA 

vk;u esa bysDVªkWuksa dh la[;k gksxh - 
 (1) 13 (2) 10 (3) 14  (4) 16 

 
Q.20 64 xzke O2 esa fdrus eksy mifLFkr gksrs gS ?  

[O dk ijek.kq Hkkj = 16] 

 (1) 4 eksy  (2) 2 eksy 

 (3) 5 eksy   (4) buesa ls dksbZ ugha  

 

 

MATHEMATICS 
 

Q.21 k dk eku ftlds fy, lehdj.k fudk;  
  2x + 3y = 5;  4x + ky = 10 
 vuUr gy j[krh gS] gS - 
 (1) 1  (2) 3 (3) 6 (4) 0 
 

Q.22 ,d vkn'kZ ikals dks Qsadus ij 2 ls cM+h la[;k çkIr 
gksus dh çkf;drk gS - 

 (1) 
5
3  (2) 

5
2  (3) 

3
2  (4) 

3
1  

 

Q.23 ,d csyu dk oØ ì"Bh; {ks=kQy 264 m2 gS rFkk bldk 
vk;ru 924 m3 gSSA blds O;kl dk bldh Å¡pkbZ ls 
vuqikr gS - 

 (1) 3 : 7 (2) 7 : 3 (3) 6 : 7 (4) 7 : 6 
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Q.24 The sum of first five multiples of 3 is - 
 (1) 45 (2) 65 (3) 75 (4) 90 
 

 

Q.25 If  x = 0. 7 , then 2x is - 

 (1) 4.1    (2) 5.1   (3) 54.1   (4) 45.1   
 
Q.26 216 – 1 is divisible by   
 (1) 11 (2) 13 (3) 17 (4) 19   
 
Q.27 If tn = 6n + 5, then tn + 1 =  
 (1) 6 n – 1   (2) 6n + 11  
 (3) 6n + 6   (4) 6n – 5 
 
Q.28  The distance of the point P(4, – 3) from the

origin is 
 (1) 1 units (2) 3 units (3) 5 units (4) 7 units 
 
Q.29 An equilateral triangle ABC is inscribed in a

circle with centre O. Then, ∠ BOC is equal to - 
 

C

O 

B 

A 

 
 (1) 30º  (2) 60º  (3) 90º (4) 120º  
 
Q.30 The curved surface area of a right cone is

286 m2 and its slant height is 13 m ; then area of
the base is :  

 (1) 154 m2  (2) 308 m2  
 (3) 268 m2  (4) 286 m2 

Q.24 3 ds çFke ik¡p xq.ktksa dk ;ksx gS - 

 (1) 45 (2) 65 (3) 75 (4) 90 
 

Q.25 ;fn  x = 0. 7 , rc 2x gS - 

 (1) 4.1    (2) 5.1   (3) 54.1   (4) 45.1   
 

Q.26 216 – 1 foHkkftr gS - 
 (1) 11 (2) 13 (3) 17 (4) 19   
 

Q.27 ;fn tn = 6n + 5, rc tn + 1 =  
 (1) 6 n – 1   (2) 6n + 11  
 (3) 6n + 6   (4) 6n – 5 
 
Q.28  fcUnq P(4, – 3) dh ewy fcUnq ls nwjh gS - 

 (1) 1 bdkbZ (2) 3 bdkbZ (3) 5 bdkbZ (4) 7 bdkbZ 

 
 

Q.29 ,d leckgq f=kHkqt ABC, ,d O dsUnz okys o`Ùk ds 

vUrxZr gS] rc ∠ BOC cjkcj gS - 
 

C

O 

B

A 

 
 (1) 30º  (2) 60º  (3) 90º (4) 120º  
 

Q.30 ,d yEcdks.kh; 'kadq ds oØ i`"B dk {kS=kQy 
286 m2 gS rFkk bldh fr;Zd Å¡pkbZ 13 m gS; rc 
blds vk/kkj dk {ks=kQy gS &:  

 (1) 154 m2  (2) 308 m2  
 (3) 268 m2  (4) 286 m2 
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Q.31 If tan θ = 
b
a , then the value of 

θ−θ
θ+θ

sincos
sincos  is  

 (1) 
ab
ab

−
+    (2) 

ab
ab

+
−   

 (3) 
ba
ba

+
−    (4) 

ba
ba

−
+  

 
Q.32 If sin(A + B) = 1 and cos(A – B) = 1, then 

A is equal to  
 (1) B/2   (2) –B (3) B   (4) None 
 
 
Q.33 From the top of a hill, the angles of depression of 

two consecutive kilometer stones due east are 
found to be 30º and 45º. Then the height of the 
hill is 

 (1) 1.165 km  (2) 1.365 km 
 (3) 1.563 km   (4) 1.72 km 
 
Q.34 The mean of first n natural numbers is : 

 (1) n(n + 1)  (2) 
2

)1n(n +  

 (3) 
2

1n +   (4) n + 1 

 
Q.35 In a simultaneous toss of two coins, find the 

probability of getting two tails  

 (1) 
2
1  (2) 

4
1  (3) 

4
3  (4) 

3
1  

 
Q.36 If 3∠A = 4∠B = 6∠C, then A : B : C = ?  
 (1) 3 : 4 : 6  (2) 2 : 3 : 2  
 (3) 4 : 3 : 2  (4) 6 : 4 : 3  
 

Q.31 ;fn tan θ = 
b
a , rc 

θ−θ
θ+θ

sincos
sincos  dk eku gS &  

 (1) 
ab
ab

−
+    (2) 

ab
ab

+
−   

 (3) 
ba
ba

+
−    (4) 

ba
ba

−
+  

 

Q.32 ;fn sin(A + B) = 1 rFkk cos(A – B) = 1, rc
A cjkcj gS & 

 (1) B/2   (2) –B (3) B   (4) dksbZ ugha  
 
 

Q.33 igkM+h ds f'k[kj ls iwoZ dh vksj nks Øekxr fdyksehVj 
iRFkjksa dk voueu dks.k 30º rFkk 45º ik;k x;kA 
igkM+h dh Å¡pkbZ Kkr dhft;s - 

 (1) 1.165 km  (2) 1.365 km 
 (3) 1.563 km   (4) 1.72 km 
 
Q.34 izFke n izkd `r la[;kvksa dk ek/; gS : 

 (1) n(n + 1)  (2) 
2

)1n(n +  

 (3) 
2

1n +   (4) n + 1 

 

Q.35 nks flDdksa dks ,d lkFk mNkyus ij nks tails izkIr 

gksus dh izkf;drk Kkr dhft;s %  

 (1) 
2
1  (2) 

4
1  (3) 

4
3  (4) 

3
1  

 

Q.36 ;fn 3∠A = 4∠B = 6∠C, rc A : B : C = ?  

 (1) 3 : 4 : 6  (2) 2 : 3 : 2  
 (3) 4 : 3 : 2  (4) 6 : 4 : 3  
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Q.37 Diagonals of a parallelogram ABCD intersect at
O. If ∠BOC = 90° and ∠BDC = 40°. Then
∠OAB is : 

 (1) 90°  (2) 40°  
 (3) 60°  (4) 50°  
 

Q.38 If two parallelograms are on equal bases and
between the parallels, then ratio of their areas is 

 (1) 1 : 2  (2) 1 : 1 
 (3) 2 : 1  (4) 2 : 3 
 
Q.39 The perimeter of a right triangle is 30 cm. If its

hypotenuse is 13 cm, then its other two sides are : 
 (1) 3 cm and 4 cm (2) 6 cm and 8 cm 
 (3) 5 cm and 12 cm (4) 5 cm and 8 cm 
 
Q.40 72% of 25 students are good at Mathematics.

How many are not good at it ? 
 (1) 19 (2) 7 (3) 20  (4) 21 
 
 

MENTAL ABILITY  
 

Direction (Q.41 to 42)  
 Find the next term of the given series :  
 
Q.41 2, 6, 18, ………  
 (1) 9  (2) 10  
 (3) 20  (4) 54  
 
Q.42 A 2 C, E 6 G, I 10 K, ……   
 (1) M 14 O  (2) P 27 C  
 (3) D 10 F    (4) R 20 T    
 

Q.37 ,d lekUrj prqHkqZt ABCD ds fod.kZ O ij izfrPNsn 

djrs gSA ;fn ∠BOC = 90° rFkk ∠BDC = 40°. rc

∠OAB gS : 

 (1) 90°  (2) 40°  
 (3) 60°  (4) 50°  
 

Q.38 ;fn nks lekUrj prqHkqZt leku vk/kkj ij rFkk lekUrj 

js[kkvksa ds e/; fLFkr gS] rc muds {ks=kQyksa dk vuqikr gS -
 (1) 1 : 2  (2) 1 : 1  
 (3) 2 : 1  (4) 2 : 3 
 

Q.39 ,d ledks.k f=kHkqt dk ifjeki 30 cm gSA ;fn bldk 

d.kZ 13 cm gS] rc bldh vU; nks Hkqtk;sa gS : 

 (1) 3 cm ,oa 4 cm (2) 6 cm ,oa 8 cm 

 (3) 5 cm ,oa 12 cm (4) 5 cm ,oa 8 cm 
 

Q.40 25 Nk=kksa dk 72% xf.kr fo"k; esa vPNs gSA fdrus 
Nk=k xf.kr esa vPNs ugha gS ? 

 (1) 19 (2) 7 (3) 20  (4) 21 
 
 

MENTAL ABILITY  
 

funsZ'k (Q.41 ls 42)  

 nh xbZ Js.kh;ksa dk vxyk in Kkr dhft, :  
 

Q.41 2, 6, 18, ………  
 (1) 9  (2) 10  
 (3) 20  (4) 54 
 

Q.42 A 2 C, E 6 G, I 10 K, ……   
 (1) M 14 O  (2) P 27 C  
 (3) D 10 F    (4) R 20 T    
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Direction (Q.43 to 44)  
 Find the missing term : 
 

Q.43 
?45
632

181210
 

 (1) 12 (2) 6 (3) 24 (4) 3 

 

Q.44 24 4 2 

1

3 

361 2 

6

3

?3 5

8

2

   

 (1) 13  (2) 240 
 (3) 33  (4) None of these  
 
Q.45 How many squares are there in the following 

figure ? 
 

 
 (1) 9 (2) 16  (3) 23 (4) 32 
 
Q.46 In a certain code, V E G E TA B L E is coded as 

4 5 7 5 2 1 2 3 5, then how is W A T E R coded ?
  (1) 5 1 5 2 9  (2) 5 1 2 5 9  
 (3) 5 1 2 9 5  (4) 5 1 5 9 2 
 
Q.47 Choose the correct answer  
 2 9 28 65 126  ____ 
 (1) 214    (2) 215       (3) 216  (4) 217 

funsZ'k (Q.43 ls 44)  

 yqIr in Kkr dhft, :  
 

Q.43 
?45
632

181210
 

 (1) 12 (2) 6 (3) 24 (4) 3 
 

Q.44 244 2

1

3

36 1 2 

6 

3 

?3 5

8

2

   

 (1) 13  (2) 240 
 (3) 33  (4) buesa ls dksbZ ugha  
 

Q.45 fuEu vkd`fr esa fdrus oxZ gS ? 
 

 
 (1) 9 (2) 16  (3) 23 (4) 32 
 

Q.46 ;fn fdlh lkadsfrd Hkk"kk esa V E G E TA B L E dks
4 5 7 5 2 1 2 3 5 fy[kk tkrk gS] rks mlh Hkk"kk esaa
W A T E R dks D;k fy[kk tk;sxk ? 

  (1) 5 1 5 2 9  (2) 5 1 2 5 9  
 (3) 5 1 2 9 5 (4) 5 1 5 9 2 
 

Q.47 lgh mÙkj pqfu,  
 2 9 28 65 126  ____ 
 (1) 214    (2) 215       (3) 216  (4) 217 
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Q.48 Choose the correct answer.  
 2 : 9 = 64 : ______  
  (1) 125 (2) 257 (3) 422 (4) 625 
 
Q.49 Find the wrong number in the series : 
 3, 8, 15, 24, 34, 48, 63 
 (1) 15 (2) 24  (3) 34  (4) 48 
 

Q.50 In a certain code, P O E T R Y is coded as 
R E P O T Y, then what is the code of the word 
A U T H O R ? 

 (1) O H U A T R (2) O T A U H R  
 (3) R H U A T O  (4) U A H T R O 
 
 
 

 
 
 
 
 
 

Q.48 lgh mÙkj pqfu,A  
 2 : 9 = 64 : ______  
  (1) 125 (2) 257 (3) 422 (4) 625 
 
Q.49 J̀a[kyk esa xyr la[;k Kkr dhft, : 
 3, 8, 15, 24, 34, 48, 63 
 (1) 15 (2) 24  (3) 34  (4) 48 
 

Q.50 ;fn fdlh lkadsfrd Hkk"kk esa P O E T R Y dks 
R E P O T Y fy[kk tkrk gS] rks A U T H O R dks 
D;k fy[kk tk;sxk ? 

 (1) O H U A T R (2) O T A U H R  
 (3) R H U A T O  (4) U A H T R O 
 
 
 
 
 
 
 
 
 
 

 

 

 

 

 

 

 

 

 

 

 


